Stability of Katter p.10

17. hosf of stability

of second king

18. The modynemic limit

17. Proof of stability of second kind Recold $\mathcal{L}_{N_{1}M} = \frac{N}{2} (-\beta_{R_{1}}) - \frac{N}{2} \frac{H}{2} \frac{Z_{L}}{W_{1}} + \frac{Z_{L}}{1} + \frac{1}{2} \frac{1}{|W_{1}-K_{1}|} + \frac{Z_{L}}{10} \frac{Z$ enul = inf inf < Pi Hump) IPus Hp II=1Thm $E(H,N) \ge - C(H+N)$ where $C = C(t) = C(tt'_{t})$ Proof Step 1 We consider the case $Z_{le} = 2$, $\forall k = 1, ..., H$. We use Beyler's electrostotic inepudity $\frac{2}{1} = \frac{1}{2} - \frac{1}{2} = \frac{2}{1} + \frac{2}{1} +$

where D(y:) = min lx:-Rel is the distance to the AGGM

nearest mudeus. Thus

 $H_{M,N} \ge \frac{N}{2} \left(-S_{x_0} - \frac{2^{2+1}}{P^{(w_i)}} \right).$

Kence $H_{m,N} \stackrel{?}{\underset{i>i}{\underset{\scriptstyle\sim}{\sim}}} \underbrace{\sum_{i=1}^{N} \left(-S_{ki} - \frac{2Z+1}{\mathcal{D}(k_i)} + m\right)}_{\mathcal{D}(k_i)} - \mu \mathcal{N}$ Pach's $\frac{22}{2}$ $\frac{1}{10}\left(-5\right) - \frac{22}{2}\frac{24}{2}\frac{1}{10}\left(-5\right) - \frac{22}{2}\frac{1}{10}\left(-5\right) - \frac{22}{2}\frac{1}{10}\left(-5\right) - \frac{1}{2}\frac{1}{10}\left(-5\right) - \frac{1}{1$ $\frac{1}{2} - L_{1,3} \int \left[\frac{2^{2}(1)}{D(x)} - r \right]_{+}^{5/2} dx - r N.$ Since D(x) = min lx-R61, we have Askspi $\begin{bmatrix} 2 + i \\ p(u) \end{bmatrix} \xrightarrow{s_1} = \underbrace{\sum}_{t=1}^{n} \begin{bmatrix} 2 + i \\ p(u) \end{bmatrix} \xrightarrow{s_1}_{t}$ ans hence $\int \left[\frac{2^{2+1}}{D^{(2)}} - \frac{1}{r}\right]_{+}^{\frac{3}{2}} dr = \frac{1}{2} \int \int \left[\frac{2^{2+1}}{1} - \frac{1}{r}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} - \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{2} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{12} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{12} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{12} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{12} \int \left[\frac{1}{12^{2}} + \frac{1}{12^{2}} + \frac{1}{12^{2}}\right]_{+}^{\frac{5}{2}} dr = \frac{1}{12} \int \left[\frac{1}{12^{2$ $= \mathcal{H} \int \left[\frac{22+1}{|x|} - \mu \int_{x}^{S_{1}} dx \stackrel{(x)}{=} \mathcal{H} \frac{5\pi^{2}}{4} \left[\frac{22+1}{2} \right]^{3} \right]$ Exercise Compute (4). $4\pi \int_{-\infty}^{\infty} x^{2} \left(\frac{A}{x} - \mu\right)^{5/2} = 4\pi \int_{0}^{\frac{\pi}{2}} x^{2} \mu^{5/2} \left(\frac{A}{p} - \frac{1}{p} - 1\right)^{5/2} = \iint_{-\infty}^{-1} \frac{A}{p} - t,$ $-\frac{A}{m}\int_{\pi} \frac{1}{2}dx = dt = 4\pi \int_{\pi} \int_{\pi} (t-1)^{5/2} \frac{\mu}{A} \mu^{5/2} (\frac{A}{4t})^{4} dt = 4\pi \frac{(2+1)^{2}}{F}$

 $\int \frac{(4-1)^{5/2}}{t^4} dt = 4\pi \frac{(22+1)^3}{\sqrt{p}} \frac{5\pi}{16} = \frac{5\pi}{4} \frac{(22+1)^3}{\sqrt{p}}$ t-2 = a $\frac{dt}{2(t-1)} = dn = 3 \quad dt = 2e_{0}de_{0} \qquad \int \frac{(t-1)^{5/2}}{E^{5}} dt = \int \frac{c^{5} 2 - dr}{(e^{2} + 1)^{6}} \qquad (e^{2} + 1)^{6}$ $H_{H,N} \ge -H \frac{5\pi^2(22+1)^3}{4F_{\mu}} - \mu N$ Thus Step 2. The case of general stud follows from the following Proposition: (b) Doubechies, Lich 1883) Propsibion (monotonicity in nuclear charges) Denote E(M, N, Stur) as the ground state energy of HAN with given under changes 3263. If the Star VE = M. M, then E (M, N, 1 tus) 2 E(M, N, 5 tus) Prosf Note that for every less, 2. ..., MI, the mapping te -> HMN is linear. Therefore, the mepping Zi -> E(M. W. Ltal) is concave (concerrity holds for each Zy separately, not jointly).

Under the condition Of Le E. ve can write $z_n = t \circ + (n-t) z_n \quad \text{for some } t \in [0, n]$ concevity implies Kence E(M, N, 3t. 1) = t E(M, N, 32.5) + CA+SE(M, N, 5t. 5) 4=0 2,-2, On the other hand , setting Ze=0 is equivalent to putting Re I infinity. Hence $E(M, N, 5 + 5)|_{2_{1}=0}^{2} E(M, N, 5 + 5)|_{2_{2}=2_{1}}^{2}$ thus $E(N,N, \frac{1}{2}t_{u}) \stackrel{2}{=} E(N,N, \frac{1}{2}t_{u}) \stackrel{2}{=} E_{c}$ By Induction : E(M, N, 121) 2 E(M,N, 321). 同 To finish the proof of the theorem we find from the lemma that (2,52) E (M, N, 3 & L)] E (1, N, 3 &, 2, -, -, -,). By step 1, we have E(M, N, & t..., 24) = -C (MM) =) $E(M,N) \ge -C(M+N)$ Z

Remontis

>) We have not included the spin of the dechon This can be done. ·) Optimining the final bound in po gives E(M,N) = - C (22+1)² M⁴3 N¹3 Taking into account all physical constants this give, a lover bourd a the energy " E(N, M) = -1, 0732 [(22+1) 2] H"N" -) One can include the dynamics of muccle; , but ECN,M) is a lower bound to that as the kinetic energy 13 positive. ·) One can inche magnetic ficts: - io -> -iotA then stability of scient hind holds for ZCSSS. • One con consider semi-reblivitie kinetie energi then stop. 4) of sea-& hird halds for 2 < 87.2. Open problem to improve Kis.

18. Thermosynamic limit

Existence of thermostynemic limit:

 $\frac{lim}{\mu, N \to 00} \frac{E(\mu + N)}{\mu + N} = e(y)$ $N(\mu + N) \to y$ (*)

1 Let Zu= 2 Vu=1,..., M. For every ye(2,1) the limit (#) obore exists. Furthermore, the function e: (2,1) -> R is bounded and convex (consequently, it is continuous).

Proof (sketh)

·) step 1: Sub-additivity

 $E(M_1+M_1, N_1+N_2) \in E(M_1, N_1) + E(M_1, N_2)$

This is a consequence of the verificat principle. More precisaly, given two wove functions Whi GLZ (M3M), Phi ELZ (12 SML) we con constrant e triel worke function $\mathcal{Y}_{N_{n}N_{3}}^{(3)}$ in L'a COR^{3CMFNU}) by entisymmetricity the product

NN, (K,..., KN) YN2 (KN, + J 1..., KN, + J)

Then E (M, M, N, HN,) = lin (y(3) (1) ~ (y(1) ~ (y(3)) , Hritmer Nime (Y'N), N2) = < PN, , HM, , PM, > + (YN, HM, N, PM,) the under 1 Rain, Rm, R, My, R. M. M. K. H_{M, M, M, M, LNL}). for () <u>Step 2</u>. (learly E(n,N) < O (otherwise Stability could be trivial). This and subadditivity implies (H,N) -> E(M,N) is becreasing. From stebility of matter: $O \geq \frac{E(n,N)}{H_{4}N} \geq -C$ V yeco,1) & Subsequence (Hj, Nj) Such Hence that

One then shows using subadditionity and $\lim_{j \to \infty} \frac{E(M_j', N_j')}{M_j' (N_j')} = \lim_{j \to \infty} \frac{E(M_j, N_j)}{M_j' (N_j')}$ -) Step 3. Cloary elg) E [-c, 0]. Conversity of e(2) is proven in the following way: tde 1,1' E (0,1) - Lef N, K= N(N), M'= N'(N) -00 such that N ->y, N ->y' H+N ->y, N ->y' then $\frac{N(\mu+N)+N(\mu'+N)}{2(\mu+N)} = \frac{1}{2}\left(\frac{N}{\mu'+N}+\frac{N}{\mu+N}\right) \rightarrow \frac{1}{2}(\mu+\mu')$ Note that 2 (M+N)(M'IN) -N (M+N) - N(M'+N) = NH +NM' + 2MM'. Hence $\frac{E(NH+NN'+2Hn',N(Wm)+N(Wm'))}{2(MN)(M'm)} \rightarrow e(\frac{2m'}{2})$

On the other hand, by Sub-colsitivity of E(din)

 $\in E(NN, N^2) + E(NN', N^2) + E(NN', NN) + E(NN', NN')$ SNE(M,N) + NE(M,N) + HE(M',N) + M'E(M,N) = (1'+2) E(1,N) + (1+N) E(1',N) Divising both sides by 2 (MAN) (M'AN) we show E(NM +NM' +2HM, NCOL+M)+N(NHM')) 5 2 (Mra) (N',N) $\leq \frac{1}{2} \left(\frac{E(N,N)}{NN} + \frac{E(N',N)}{N'N'} \right)$ which after taking limit gives $e\left(\frac{2rn'}{2}\right) \neq \frac{1}{2}\left(e_{n}\right) + e_{n}\left(r\right)$ This implies converty. Ø